1D 1-2
Main Text In each of the following questions find out the alternative which
will replace the questions mark.
I fou T R R H 2 I A T | R g8 I8 b Sl
el ¥ Tep ey far T & e S¥R I 1 U UE o« & | R T
faetl # 9 T8 fAhed 10 S SR I & Ug A JHH TR Il
8|
Question Hot: Oven : : Cold : ?
T efET o 3ue : ?
A Ice Cream
JSHHH
B Snow
%
C A.C.
TR HSIR
D Refrigerator
fproReR
Answer D
Question School : Principal : : Office : ?
el : RUMEN : : A 2
A Manager
RN
B Computer
PR
C Files
higel
D Teacher
AYch
Answer A
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Question

A and B are brother. C and D are sister. A’s son is D’s brother. How is B
Related to C?
AJRBYWER C IRDTEAE, ABT TR D BTHE & | B BT C J T T4 &

A Uncle
el
B Brother
GE]
C Grandfather
qIal
D Father
o
Answer A
Id 4
Question | Pointing towards a lady, Ram said, “The son of her only brother is the
brother of my wife.” How is the lady related to Ram?
Ueh 3R T AR FIRT B 5 M Hadll & o "SHh THARR WIS BT ST 7t
U BT U8 &7 | S 3R T I b 1 T FFw &7
A Mother’s Sister
1|
B Grandmother
aqrel
C Mother-in-low
g
D Sister of Father-in-law
IR ! 98
Answer |D




Id 5

Question | A man said to a lady, “Your mother’s husband’s sister is my aunt.” How is
the lady related to the man?
Ueh MMt A R el “TFER T o UfT ot S8 A1 931 8" 99 3R &
31 P AT T TR B2

A Daughter
ESN

B Mother
HIT

C Sister
CEG

D Aunt
AT

Answer |C

Id 6

Question | g} e fawe &1 T2 BN |
AP

A IR + SUhR

B R + SUBR

C R + SUBR

D R + JTHR

Answer B

Id 7

Question | fer=forRad Iral & 9 fohad fA=R T AfY & 2
A Iooided

B fereeret

C TR

D g

Answer | B
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Question | fFrfeIRad o1 & forg S - foy 7Y faredt # & SUERT AN BIfcy
F-am™
A FHIRY
B fen
C i
D T
Answer |C
Id 9
Question |31 313 Hfdreh eral J AeTehs o Y T eieh ¥eq Dl 91 hadl & ?
A Hfer
B HN
C ekl
D B
Answer |B
Id 10
Question | “GI&TT H GRYIT IR & ¢ TS & ?
A W + 319 + S&0T
B qR+ 37T + SafoT
C TRY + 319 + Sefu
D g + Ser
Answer |B
Id 11
Question | ‘TRTIYT TG H U e & ?
A ®
B A
C oAt
D ot
D

Answer




Question | TATIAT g BT I BT —
qiRe

A PHA

B XA

C ferstett

D CIES]

Answer | D

Id 13

Question | TATIAT IS T =T PITT —
X

A NG

B hed

C AR

D Jootq

Answer |C

Id 14

Question | fdelM ¥1eg / fAuRideles I
2y

A frerg

B SERIES]

C oy

D gf-ifeer

Answer | B

Id 15

Question | faeim g / fAqianeies vrsg
SEIICI)

A Ay

B e

C EEL]

D =

Answer |B




Id 16

Question | ILA Bulletin is
31T, T U e qReBITRIC BNl & 2

A Quarterly
GRGIRED

B Monthly
q1k1d

C Bi-annual
foz -anfifep

D Bi-monthly
fea- A1t

Answer A
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Question

In the process of reasoning when we start with a specific statement, and
conclude to a general statement, it is called

Fepet GRfGRAT H fARE 9 &/ & R AT 94T Uga! gQ fishs

ferepTeT STl 2, A T Tl 2-

Deductive Reasoning
o\ <

[HAIHD dAch

Inductive Reasoning
JAFTAATHSD b

Abnormal Reasoning
RAATY e

Transcendental Reasoning
IRl ifdhds eh

Answer

B
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Question | Indian Library Association was founded in the year

SIS SRR IRATAYI 77 9 A1fie] gam e -
A 1931
B 1933
C 1936
D 1948

Answer B




Id 19
Question | What is a Word Processor?
IS RINIR 341 27
A Software
NIEGERN
B Hardware
BTSd3R
C Back end
D Program to perform word processing functions
TS RIAR BRI BHR-dTel RIRA
Answer D




Id 20
Question | First Law of library science is not connected with
HRC dT AT ARSI frfeRad # < Heferg =i & -
A Location
Tl
B Building
TR SARA
C Loss of Book's
fopamal &1 Jpae
D Furniture
BiER
Answer |C




Id 21

Question UNESCO Public Library Manifesto was published in the year
UNESCO Sdsif+ies [RiehTerd STNUIICR B4 STt GRepTRIG fohdT 7T -

A 1972
B 1949
C 1948
D 1947

Answer B




Id 22
Question | AACR I is a code meant for which catalogue?
AACR 1 %' for gt TR (Fear) & Fafed & -
A Dictionary catalogue
YGEHY AR
B Divided catalogue
C Alphabetical catelogue
D Classified catalogue
CHICANAG IR
Answer A




Id 23

Question |Windows NT is a
ST NT @ 2 -

A Software
AR

B Hardware
ESd3R

C Tool
[5

D Operating system
IR Rieed

Answer D




Id 24

Question | Shelf list facilitates
At T FforRad ot e [Rer BRedt & -

A Classification
giffepxor

B Weeding out
IBNE)

C Stock verification
ICTh I

D Documentation
CESIGS  Ea|

Answer |C




Id 25

Question | What does library classification mean?
URIehTerd aRfiehRoT ot o 37ef & -

A Arrangement of ideas in a systematic manner
FafRerd axich & Heael qREwEH

B Arrangement of document according to physical form
HiftIeh SMHRTIIR Al R

C Arrangement of year wise

D Author wise arrangement
IGd o AR REeH

Answer |A




Id
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Question

Who stated that “To provide the right book to the right reader at the right
time”?
& UTSeh b Tet THIUR el Ui GRS R & I8 a1 foha= et o

A L.R. McColvin
B Melvil Dewey
Hediet $gdt
C S.R. Ranganathan
D Drury
SR
Answer D




Id 27

Question | FTP refers to
0. .4t 1 7elerd € -

A Full Time Programmer
B TRA RN

B File Transfer Protocol
BISA TRIIHR [RICIhict

C File Transfer Programme
WIel TRIHY RIA

D File Task Programme

HIEd TRPp RIRA

Answer

B
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Question

Which of the following gives complete control over the cross reference of
an index to the Indexer?

ffeRad § & P ST IHRHOIRT SHTdTeldh] JATHRAMIDRT BRI ey § Ul
foRIcRT [RET e 8-

A See also cross reference
3t aifel PRI YR

B check also cross reference
e el BRI BT

C See cross reference
At R B

D Inverted cross reference

gIECS PRI N

Answer

D




Id 29
Question ' Which Indian University first started M.Lib.Sc. & M.Phil courses
fop faq faermera & M.Lib.Sc. 3R M.Phil &N HaURH I foedm TR0 |
A University of Delhi
faeet favafdemer
B University of Madras
"R faeafaemer
C S.N.D.T. Women University, Bombay
79.0A €. fawafaerner , §a3
D Aligarh Muslim University
3eiiTe AR faeafdemer
Answer |A




Id 30

Question ' Mark the 'odd one out'.
frfeTRed # | a9 3Te 991 gy -

A Cow-Calf principle
PTS, - PIh QRN

B Principle of osmosis
fORRTuet 3ifth SR

C Wall picture principle
arel ferer fORRTe

D Whole organ principle
Bt R IR

Answer B




Id 31

Question | SLSH stands for

SLSH &7 312} & -

A SubJeCt Language Subdivision Heading
IO ST afSfageT g e

B Science List of Subject Headings
I foree 3ifth Jeoiare 3f STl

C Sears List of Subject Headings
Ryari foree 3ffth Herotae BfEwt

D Science Language Subject Heading

N~ oi‘CI\ﬂ Hsl\ﬂc!rc', %'%Tf

Answer |C
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Question

Which of the following are nonprobability sampling?
i) Quota sampling
ii) Judgement Sampling
iii) Cluster-Sampling
iv) Multi-stage sampling
frferRae & § Bivma IR dvreran(Ata Risfaferdt Jafern) T e -
1) It AT
ii) frof s
iii) g T

iv) TEECRIY

(i) and (iv) are correct.

(i) 3R (iv)TE &

(ii) and (iii) are correct.

(i) 3R (iii) W& &

(i) and (ii) are correct.

(i) 3R ()T 2

(iii) and (iv) are correct.

(iii) R (iv)=Er &

Answer

C
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Question

By which name Delivery of Books Act (1954) was revised in 19567?
frrforRed for M= feforet 3l 4 Jfae’ (AQus) &l F9 9] 4 H FNfe
fomar T -

A Delivery of Books Act, 19567
feferest 3ifth T 3fere, 1956
B Delivery of Books and Newspapers (Public Libraries) Act, 1956
fSferat 3l ot 3fvs ~IoUWR (Ufeetar AR 3fae, 1956
C Delivery of Books and newspaper Act, 1956
fSforest 3l T i~ Ioum 3Fe 1956
D None of the above
ST B el
Answer |B
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Question

The replacement of book in the proper places of shelves at regular
intervals is called as

frafie SfeR IR STemIRET & IRUd T2t § [ & [RITEIG B el STl &

A Reference service
e
B Shelf rectification
Ih YT heh I (I TR )
C Separation of rare books
§§§'H gicﬂaﬁl <h] GAcfch U]
D Information service
SCRIESE]
Answer B




Id 35
Question | Headquarters of IFLA is located in:
IFLA &1 qaTer fAaferRad wex 8 Rerd & -
A Paris
uRY
B Washington
amRive
C London
ole-
D The Hague
g1
Answer |D
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Question ' Which one was the first scheme could be called a completely Analyhtico-
Synthetic classification scheme?

fFrfoRad § 9 IFRT qReM I & I3 TRE 9 'sFifetfed! -Rfes

FeATRIThch 21 b1’ Thel ST Hehell & -
A Colon Classification 6™ Edition
PIoT Fenaftheher RieRer ufee™
B Colon Classification 4™ Edition
P FTRAfhhe Hiet ufge
C Colon Classification 3" Edition
P FATNIhhI 2T UfeeH
D Colon Classification 1* Edition

P FATNIheh I e TSI

Answer D




Id 37

Question | In which one is synonyms meaning?
1. Reference book
2. Rare possible book
3. Not possible book
4. In printed book
T T gy
q) JeH YD
Q) oW eH I
3) I YRIeh (e UTRITet g )

Answer A




Id 38

Question The “Expansive classification” was published in

'TFUTRAE  FAT b eT'ehI= & Y UREBIIRIT §3TT o

A 1901
B 1891
C 1933
D 1905

Answer B
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Question

Library Ethics is a combination of what?
i) Responsibility
ii) Accountability
iii) Commitment
iv) Decision Making
TR Afepdr fFrforRad @1 e 8
i) Rt
ii) STaTEeE!
iii) Rfcreegan
iv) fror e

(i), (ii) and (iii) are correct.

@), (ii) 3R (iii) T &

(ii), (iii) and (iv) are correct.

(ii), (iii) R (iv)TE 2

(i), (iii) and (iv) are correct.

(i), (iii) R (iv) TE 8

(i), (ii) and (iv) are correct

(1), (i) 3R (iv)Ts &

Answer

A
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Question

Generally the information sources are divided mainly into following
categories?

AILRT: o1 FRId! bl 7 fferRad IRMFOR # T faram S & -

A Primary and secondary.
T SR fogeia = RIa

B Reference and information sources.
<igH 3R AT TR

C Documentary and non-documentary.
gt 3R IR - ST WRI

D Books and periodicals
x<ioh 3R e Fiferds

Answer C




Id 41

Question | Peter Pyhrr developed this technique:
Wex UrER (Peter Pyhrr ) 7 39 TR ! fAsmRid fman 8

A PPBS

B Performance Budget
RGBT oI

C Zero Based Budgeting
f3RI S q9ifcT

D Line by line Budget

TS 919 TS doic

Answer |C




Id 42
Question | Which of the following is not covered in Resource sharing?
ferferRad # 3 forsren! "R 1R gl A& S b ?
A Sharing materials
2R AT
B Sharing functions
AR e
C Sharing services
Qa1 Al
D Sharing staff
AR T
Answer |D




Id 43
Question |Which kind of budget initialize with a minimal or zero figure for
funding?
DI AR H AT ~ATH TaH o I XA & ?
A Traditional Budget
RORIT TR
B Zero Based Budget
ILTRA JTLRidhed
C Capital Budget
YT JTeiRiched
D Imposed Budget
SIENIEE DRG]
Answer |B




Id 44

Question | How many columns are there in the accession register?

uRIREYT GfTeRI(3TeRIE IoTReR ) # e W 8 2

A 10
B 12
C 14
D 16

Answer |C




Id 45

Question |Which two organizations jointly publish survey on digitization and
preservation?

DI ] TS YT FUY FSRIEIRRUT TaH HRET0T 0R AfeToT qREpTRIT B &
?

A IFLA+UNESCO
B ALA+UNESCO
C IFLA+ALA
D IFLA+LC
Answer A
Id 46
Question | The first printed works are called
FIRYH FfR FHATh! Pl STl 82
A Impensis
SRR
B Incunabula
STFGATLCT
C Impression
SR
D Imprimatur
FRAFIR
Answer |B




Id 47

Question | In notational plane “Decimal fraction device” contributes to which canon?
g?

A Uniformity

B Relativity
Retdieich

C Hierarchy
BRI

D Non Hierarchy
AT - SRR

Answer |B
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Question

The alternatives and modifications of H-Index are
i.) I-index
ii.) Pure-h Index
iii.) Scimgo Journal Rank
iv.) European Impact Factor
'TA-ESHRT' P Jehiedds IR gRac & ?
i) o - SS
ii) W3R oI g
iii) Repl STt Y
iv) IR ST e

(i) & (iii ) are correct

(i) 3R (iii) T&t &

(i) & (ii) are correct

(i) 3R (ii) FE 2

(i) & (iv) are correct

(i) 3R (iv) & &

D

(ii) & (iii) are correct

(i) 3R (i) T2

Answer

B




Id 49
Question | Indian National Bibliography is used for
VRN T RN T SuAT foham Tl & 2
A Book Selection
X< a9+ o forg
B Stock verification
IClh S
C Reservation
ORcich ARET0T
D Classification
Answer A




Id 50
Question | Query languages come under which generation?
FARY ISl DI STFREH IH & ?
A Second generation
fogcitar SReH
B Third generation
C Fourth generation
gl ST
D Fifth generation
U SR
Answer |C




Id 51

Question What is the meaning of E-Documents?

"S- IRAIIT BT N RATE ?

A All Documents other than printed
e & 3T T ST
B Non-Paper documents
R - BRI g
C In electronic form such as Cassettes, CD-ROMs, etc.
SoldeRI+Ich A phic, Uit - I Mfg
D Audio visual tools
3iffeat - fasgarat g

Answer |C
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Question

Consultation of Book Replacement and Duplication with whom?

R [RICRATAA oI GRRTHUNUT BT foh delch 121 IR o Sl & ?

A with circulation section
RERENEET

B with technical section
difcRe el

C with maintenance section
ORI - SEHTeT el

D with librarian
TR & AT

Answer A




Id 53
Question | A word book is also known as
'TS b’ 3T THAH ST I & ?
A Index
g
B Dictionary
SRR (g
C Monograph
BIESED)
D Periodical
IRRREAIRE
Answer |B




Id 54

Question ' To make a program safe, one should take care of

A Strong authentication and access controls
foeIy TRATNHROT T IR fARieRoT

B Error checking controls
Tie S AR

C Do risk analysis
SRgA fagetsoT

D Vendor's credibility

ICEAGICIRCEESI BRI

Answer |A
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Question

A systematic method and process of studying and evaluating whether the
expenditure for products, materials, or services is justified by the benefits

1S
ST T, TFERT TaH T3t o folg TRl Sfd &, S9! Haferd gghd
ERT T 3R Yo &b [RIpRA Bl &

A Break Even Analysis
R - T8 AR

B Cost-Effective Analysis
PHIRC - Fhadie IR

C System Analysis
RecH srATferg

D Administrative Analysis

FreffReRiceE STTferig

Answer

B




Id 56
Question | Arrange the following IFLA programmes according to their year of
commencement:
i) UBC
ii) UAP
iii) ISBD

iv) International MARC Office
fAfeRad ' IFLA' RIRA®T (RRH T8 AR HRH oY |
i) UBC

ii) UAP

iii) ISBD

V) $aeMd MARC 3iifthsd

(1), (iv), (iii), (ii)

(i), (iv), (1), (iiL)

(iv), (1), (i1), (iii)

oo w »

(iii), (i), (i), (iv)

Answer

D
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Question

Which of the following is not an implication of Fourth Law of Library
Science?

fefeRad & & Pi= 'wied f 3 THaRRT A=’ bl YR 81 2

A Classified arrangement
EI‘”@H oxXH

B Stack-room-guides
ICTh-HU-TEE

C Issue Methods

D Rural Library Services

TR qReTehTeT JaTd

Answer

D
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Question

In the library hierarchy which level of management is responsible for
execution of policies?

TR TSR H Hifcdl & fepRamaa & folg [REeM Pl IR SRR
B8 ?

A Middle level
HEgH TR [REEH

B Operational level
AT [ReEE

C Top level
37 X

D Lower level
DTG TR

Answer A




Id 59
Question | In which device is requires when connecting to Internet?
'$ERAIC SIS & foTT Nt Te JMaege 8
A Keyboard
- ars
B Modem
qred
C Eathernet cable
SRAIC Pl
D Data card
ST B
Answer B




Id

60

Question

Which of the following guides are used in maintenance section of the
library?
i.) Gangway guides
ii.) Shelf guides
iii.) Tier guides
iv.) User guides
TR H @S & forg fforRaa & J pIFRY MES o1 SuaT 3 <irem 8
i) T MSS
ii.) 3P TS
iii.) IR TS
iv.) IoR TES

(i), (ii) and (iv) are correct.

@), (i) 3R (iv) T &.

(i), (ii) and (iii) are correct.

(i), (ii) 3R (iii) Tt 2.

(ii), (iii) and (iv) are correct.

(id), (iii) 3R (iv) Tt 2.

(i), (iii) and (iv) are correct.

(i), (iii) 3R (iv) T 2.

Answer

B
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Question | When Karnataka Public Library Act was enacted?
'FHTCH Ulecldh TIISRY 3iac’ e - AN fhaT 7T o |
A 1965
B 1968
C 1972
D 1981
Answer A
Id 62
Question | Primary Sources include:
i) Thesis
ii) Patent
iii) Abstracting Periodical
iv) Periodical article
TRIP TR & A & -
i) eMeoREs
ii) Uee
iii) IR fFaaeIfers
iv) Fada@rfers
A (i), (ii) and (iii) are correct
(i), (ii), (iii) ¥ &
B (i), (iii) and (iv) are correct
(i), (iii) 3R (iv) TE B
C (i), (ii) and (iv) are correct
(i), (ii), (iv) T 8
D (ii), (iii) and (iv) are correct
(ii), (iii), (iv) TE &
Answer C




Id 63

Question | Which of the following are reasons for obsolescence of information?
i) Information is considered invalid.
ii) Information is valid but mostly available online.
iii) Works are extensively cited.
iv) Information is valid but inadequate for exploration.
frfoRad § & Pi=T Afacht TR BRI HRTE -
i) SIFRRT T M= AT ST 2
ii) STHHRT AFITIRIG & 9 JiFee Suae 8
iii) REY A0 wY & 3 I &
iv) ST R AFIATRI 8 ifdhe 31auvres forg araaied 8

A (i) and (ii) are correct.

(i) 3R (ii) TEt &

B (ii) and (iii) are correct.

(i) 3R (iii) W& &

C (i) and (iv) are correct.

(i) 3R (iv) T& &

D (ii) and (iv) are correct.

(ii) 3R (iv) G&t &

Answer |C
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Question Citation Indexing was first developed in the field of

Y TSR P &R § gauRed fomior fasam mr -

A Social Science
TSR IR

B Law
fafer

C Science
TR

D Mathematics
Tford

Answer B




Id 65

Question | Windows edition of CDS/ISIS is named as
ferst emgRy CDS/ISIS 1 ™ &1 /=T & -

A WINSIS

B WISIS

C Windows ISIS
D WINCDS

Answer |A
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Question Modes of formation of subject are the part of which process of the library?
farsr o =T Tich URTepTord bt fohe URIpRAT T v &
A Accessioning
-~
B Classification
GHICZY
C Cataloguing
D Documentation
Answer |B




Id 67
Question Generally library staff working hours per week
ARV TRATAT HHART I BT FHRD oI BHBS T Bl & -
A 40-50 hours
40-50 €
B 36-50 hours
36-50 ¢
C 56-65 hours
56-65 Ec
D 50-60 hours
50-60 &
Answer B
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Question

Which one is a basic service of the library?
1. Provision of General information
2. Provision of specific information
3. Assistance to location of document
4. Assist to use of library catalogue
TRATSTT ! Y=g T fferRaad I & -
9) HILROT ATfRTt SUAL] BRI |
?) fafdre wifacht Suetey &= |
3) SIRFHCHT TA Tl & ol TEIaT BRI |
%) TRATST T SUART R & B H AGG BT |

1 and 2 are true

9 3R 2 T

3 and 4 are true

3 3R ¥ TR

2 false
TR

all are correct

Suffee o+t v 4t 2

Answer

D
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Question | Which one of the following is correctly matched?
ferforRad watal & 3 & I=ifera gag gg=nfg -
A Reference service + Special Library
¥ JaT + A9 TR
B Reference books + Theses
HaH g + TReY
C Clipping service + Newspapers and Magazines
frAftT JaT + THRHIR T - URRBIT
D CAS-+ print journals
CAS -+ HfSRd S+
Answer |C




Id 70

Question | In which year reference service was started in USA?

PHIA g8 USA H e JaT I &1 78 -
A 1905
B 1872
C 1873
D 1875

Answer D
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Question | Which of the following activities are supported by UGC?

i.) Facilitating increased access to information.

ii.) Monitoring the implementation of revised curriculum.
iii.) Making policies for human resource development
iv.) Funding all academic libraries.

ferforRea & I BiFRT Iffaferil @ UGC &Rt wganT fopan e & -
i) Hfecht WRId A& Ugd Dl T a4 1 |
i) TN UTSTHRT & BRI B IR BT |
iii) AT FTe fdeprT @t Aot 99T |
iv) YIfoTeh TR o fold SFRTRN HeeaT & |

A (i), and (ii) are correct

(i) 3R (ii) TEt 8

B (i), and (iii) are correct

(i) 3R (iii) G&t &

C (ii)and (iii) are correct

(ii) 3R (iii) FE 2

D (i)and (iv) are correct

(i) 3R (iv) FE 2

Answer B
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Question

Which association & aposs tagline is “connecting people and information”
for=T =T T TWaTed 8 “connecting people and information”

A SLA

B IFLA

C ALA

D COMLA
Answer A
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Question | In spiral of scientific method, the span of Zenith to descendant is
YRR el 3fciet 'RfIgR ofhx Feafi deh ' I8 U -
A Empirical phase
RANT e TROT &
B Hypothesizing phase
TROT 8
C Deductive phase
TS R0 B (Seadie a)
D Verification phase
T TROT &
Answer |C
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Question | How many Auxiliary tables are there in DDC 23rd Edition

DDC 23 # I¥pR0 # e griiford 2

A 16
B 6
C 7
D 8
Answer B
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Question

Which one of the following is a Bulletin Board Service on Internet?

PrfeiRees 3 SR TR a1 TRk ot Sexie £ 2

A Picaso
B Google talk
C Blog
D Oovoo
Answer |C
Id 76
Question | Who has been appointed the Vice Chief of India Air Force?
fopen! R a1 1T T SuTede] e fohan TR 8 |
A H S Arora
Td T4 3R
B Bipin Rawat
faft= e
C Karambir Singh
FRARER Rig
D Rakesh Kumar Singh Bhadauria
Tehe HHR Rig weiRkan
Answer A
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Question

Which day is observed every year as International Translation Day?

fop o 1 BR Tt SRR TS fRaT & ®U & AR Sl 8 |

A 23 September
23 fideR
B 26 September
26 fycieR
C 28 September
28 el
D 30 September
30 RidesR
Answer |D
Id 78
Question | Which day is observed every year International Day of Older Persons?
fopg 3 1 BR TeT SRR Ig- o<y & w0 & F+11 S £ |
A 1 October
1 3fFGsR
B 2 October
C 5 October
D 7 October
Answer A
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Question

Which day is observed every year as World Heart Day (WHD)?
foh< 1= 1 g7 R H RIS N g g1 QT (S<qash) & U H A9
ST 2 |

A 28 September
28 fcesR

B 29 September
29 feieR

C 30 September
30 f¥eieR

D 27 September
27 feieR

Answer B

Id 80

Question | Viju khote has passed away recently, He was the
EERCIMCI IR R A oE Ko ) H - —— 9|

A Politician
NNEG])

B Actor
SIEEGI]

C Scientist
ERIEET

D Athlete
qereiic

Answer B
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Question

What is the name of Independent India’s first foreign secretary who has
passed away recently?

IR YR & Uge! faee i o1 A1 a1 & Riiept g1t 8 & e 8 /e

A K P S Menon
& @ g9 AT
B Pramod Kumar Misra
TRAIE TR AR
C Rajiv Gauba
SUSICRIIC]
D Vijay Keshav Gokhale
ENPENGRITC
Answer A
Id 82
Question  Bada Dashain, the biggest festival of ------------- was organised.
------------------- BT FI TG TSR T T AT FoNT 3 |
A Nepal
aret
B Sri Lanka
IRIcichT
C Maldives
CICEIC)
D Bhutan
™
Answer A




Id

83

Question

Who has been appointed as the principle Director General of Press
Information Bureau?

foh<Ten! RV o1 <RI T RYT FRIQedh Fgad fohdm T & |

A Ajay Kumar
3oy pHR
B Vijay keshav Gokhale
fasTa e Tget
C Rajiv kumar
D K S Dhatwalia
% T gcaTferan
Answer |D
Id 84
Question |Which day is observed as International Day of Non-Violence?
o a1 b1 &R TeT SRR 3ifETT fRa<y & wu & §Hrn Sl € |
A 1 October
B 2 October
2 JFCER
C 5 October
5 R
D 7 October
7 IR
Answer |B




Id
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Question

Annu Rani is related to which Sports?

=1 I o Wt & HeifdrT & 2

A

Javelin Throw

UTeTT theh

B

Discus Throw

BT theh

C

Shot Put
Mol %heh

D

Weightlifting
YR

Answer

A

Id

86

Question

A, B and C started a business with their investments in the ratio1:2: 4.
After 6-month A invested the half amount more as before and B invested

same the amount as before while C withdrew % th of the his

investments. Find the ratio of their profits at the end of the year.

A, BTT C+ U= Yot A1 : 2 : 4 % U H 109 Pxeh (b AUR I
fopa | 6918 o a15 A 7 (AT IRt o1 amen | 21feres WRT 3R B 7 370t
AR dot & aRIeR g=RIRT iR 91 @1, Sfafds C 7 et A usht @t

T A et forn | e o 3 ot § I foby oo A am

fAerm 2

5:12:13

5:11:14

5:12:14

o 0w »

None of these

Answer

C




Id
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Question

Out of six consecutive natural numbers, if the sum of first three is 27,
what is the sum of the other three?
SRR 6 TR sl & 9, IfS Uget! i Fme) &l i 27 g, & 3 oA

A 36

B 35

C 25

D 24

Answer |A

Id 88

Question | Divide Rs. 7,500 among A, B and C such that A’s share to B’s share is in
the ratio 5:2 and B’s share to C’s share is in the ratio 7 : 13. How much
will B receive ?
Rs.7,500 @I A, B iR C # fawiford frar Sran 8 | afk A iR B &1 f=em
5:2 & U H g 3R B 3R C &1 fd=q 7:13 & S H &, a1 B &l foen
RIS §a?

A Rs.1,400

B Rs. 3,500

C Rs. 2,600

D Rs.7,000

Answer A

Id 89

Question If a=x+y, b=x-y, c=x+2y, then a°+ b’+ ¢~ab—bc—ca is
i a=x+y, b=x-y, c=x+2y 8l a’+ b’+ *—ab—bc—ca BTHAM &

A 4y’

B 5y°

C 6y°

D 7y

Answer |D




Id 90

Question | A boat running downstreams covers a distance of 30 kms in 2 hours.
While coming back the boat takes 6 hours to cover the same distance. If
the speed of the current is half that of the boat, what is the speed of that
boat in kmph?
SISICH H Tl dTeft b A9 2 B¢ H30 fohalmiex ! X O Bxell & | arod
31 g9 AT ! FH SXF 79 R H 6 5 o1 8 | A oy it 1y A1 it
ameft 2,90 foet § 99 =1 Y Ify 22

A 15

B 5)

C 10

D None of these
ST I B &

Answer C

Id 91-92

Question Type Comprehension

Main Text Pick Out the most effective word from the given words to fill in the blank

to make the sentence meaning fully complete.

Question Economic development and education have ....... women more assertive.

A Made

B Prepared

C Marked

D Resulted

Answer A

Question The government is planning to set ....... family welfare centers for slums in

cities.
A Another
B With




C For

D Up

Answer D

Id 93-95

Question Type Comprehension

Main Text Read the following question carefully. In each of the question there are
given an error in one word or phase in “BOLD” choose the word or phase
from the given alternatives which may replace the word on phase in BOLD.

Question They were all astonished at his failure in the examination.

A For

B On

C In

D No Correction

Answer A

Question Due to bad weather the number of ships crossing the channel last week is
very small.

A Are Being

B Are

C Was

D No Correction

Answer C

Question She is worried about his health and also me.

A Also Is Me

B So Am I

C Also Is Me

D No Correction

Answer

B




Id 96-100

Question Type Comprehension

Main Text Read the following passage and answer the questions based on it.
Mountaineering is now looked upon as the king of sports. But men have
lived amongst the mountains since prehistoric times and in some parts of
the world, as in the Andes and Himalayas, difficult mountain journey have
inevitably been part of their everyday life. However, some of the peaks
there were easily accessible from most of the cities of Europe. It is quite
interesting that while modern mountaineers prefer difficult routes for the
greater enjoyment of sport, the early climbers looked for the easiest ones.
For the summit was the prize they all set their eyes on. Popular interest in
mountaineering increased considerably after the ascent of the Alpine peak
of Matterhorn in 1865 and Edward Whimper’s dramatic account of the
climb and fatal accident which occurred during the descent. In the risky
sport of mountaineering the element of competition between either
individuals or teams is totally absent. Rather one can say that the
competition is between the team and the peaks themselves. The individuals
making up a party must climb together as a team for they depend upon one
another for their safety. Mountaineering can be dangerous unless
reasonable precautions are taken. However, the majority of fatal accidents
happen to parties which are inexperienced or not property equipped. Since
many accidents are caused due to bad weather, the safe climber is the man
who knows when it is time to turn back, however, tempting it may be to
press on and try to reach the summit.

Question Mountaineering is different from other sports because

A It is risky and dangerous

B It can be fatal

C It is most thrilling and exciting

D There is no competition between individuals

Answer D

Question People living in the Andes and the Himalayas made mountain journeys
because

A It was a kind of sport

B They had to undertake them in their day — to —day life

C They lived in pre —historic time

D Of the challenge offered by the difficult journey




Answer

B

Question Mountaineers climb as a team because

A The height is too much for one individual

B The competition is between the team and the peak

C They have to rely on each other for safety

D There is no competition among them

Answer C

Question “..... the summit was the prize they all set their eyes on”. In the context of
the passage. This means

A Reaching the top was their exclusive concern

B They kept their eyes steadily on reaching the summit

C They cared for nothing but the prize of reaching the summit

D They chose a route from which they could see the summit clearly

Answer A

Question “To press” in the last sentence of the passage means

A To struggle in a forceful manner

B To force upon others

C To work fearlessly

D To continue in a determined manner

Answer

D




